Jugend

Deneke Wenzel
Eiden Janek
Hofmann Emanuel
Laux Marcel

5 Martiné Patrick
Fischer Nils
Cullmann Tobias
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Herren

v.d. Putten Stephan

Gorgen Erwin
Pieper Oliver
Laux Alexander
Mdallen H.Dieter
Pieper Uli
Kaltenbrunn Klaus
Herrmann Otmar
9 Heydenreich Rudi

10 Labarbe Walter

11 Graf Roger

12 Hauth Erich

13 Riedel Dietmar

14 Schull Giinter

15 Butkereit Jirgen

16 Mitscher Udo

17 xxx
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Damen

1 Useldinger Gudrun
2 Pieper Sabrina

Clubmeisterschaft 2007

25.03.2007 15.04.2007 26.08.2007 09.09.2007 30.09.2007 SUMME | Streicher | ges. Sch |Ampl
09:00 08:00 MMT 08:30 09:00

3 28 31 = 95/31 32 20 = @2 = 0 = 0 = ofl= 187[ - 95| = 92| 30667
35 35 36 = 10632 31 29 = 92 = 0 = 0 = of= 198 - 08| = 92| 30,667

= 500[29 30 33 = 92 = 0 = 0 = of= s92] - s00[ = 92| 30667
38 39 37 = 11433 27 33 = 93 = 0 = 0 = of= 207| - 14| = 93] 31,000
44 41 34 = 119|35 33 33 = 101 = 0 = 0 = of= 220 - 119 = 101] 33,667
53 42 50 = 14541 33 41 = 115 = 0 = 0 = of= 2e0f - 145| = 115|#DIvIO!
45 46 37 = 128 = 500 = 0 = 0 = of= 628 - s500[ = 128] 42,667
34 30 26 = 90 = = 0 = 0 = of= 72| - 9| = 82f 27,333
31 34 30 = 95 31 = = 0 = 0 = of= 79| - 95| = 84| 28,000
31 31 28 = 90 = = 0 = 0 = of= 75| - 9| = 85| 28,333
31 32 33 = 96 = = 0 = 0 = of= 182 - 98| = 86| 28667
32 30 30 = 92 31 = = 0 = 0 = of= 79| - 92| =  87[ 29,000
36 33 29 = 9829 30 28 = = 0 = 0 = of= 18| - 98 = 87| 29,000

= 500[33 30 26 = = 0 = 0 = of= s89f - s00[ = 89| 20,667
39 37 38 = 114/ 30 27 34 = 91 = 0 = 0 = o= 205 114 = 91| 30,333
31 32 32 = 95/31 34 20 = 94 = 0 = 0 = of= 189 - 95| =  o9af 31,333
35 31 33 = 9935 31 31 = 97 = 0 = 0 = of= 96| - 99| = 97| 32,333
35 27 36 = 9834 34 30 = 98 = 0 = 0 = ofl= 198] - o8 = 98] 32667

= 50032 35 31 = 98 = 0 = 0 = o= 598 500 = 98| 32,667

= 500[34 33 37 = 104 = 0 = 0 = of= e04f - s00[ = 104] 34,667
36 40 46 = 12238 34 42 = 114 = 0 = 0 = of= 238 - 122| = 114] 38,000

= 500 = 500 = 0 = 0 = o = AdW.| - 500| = e | e

= 500 = 500 = 0 = 0 = o= AdW.| - 500| = e | e

= 500 = 500 = 0 = 0 = 0| = ADW.| - 500 = s |
31 31 34 = 9627 34 30 = 91 = 0 = 0 = ofl= 187| - 96| = 91| 30,333
39 43 35 = 117 = = 0 = 0 = o= 17| - 17[= o|#ivior




